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SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions.

1. What is Management Accounting?

2. What are the Objectives of Management Accounting?

3. State the nature of financial statements.
4. From the following data calculate Material price variance. 

Standard  -  20 kg at `5.50 per kg.

Actual      -  25 kg at `6 per kg.

5. Standard hours : 40 hrs. @ ` 3 per hour.  Actual hours : 50 hrs. @ `4 per hour Calculate  Labour cost variance.

6. What is mean by ratio analysis? 

7. From the following data,  Find out operating profit ratio :  Cost of goods sold  Rs.2,20,000; operating expenses `.50,000 ; Net sales `3,00,000.

8. Explain the meaning of ‘cash flow’.
9. Find out the provision for income tax made during the financial year 2013-14:    


Balance provision for tax on 1-4-2013 `2,70,000, balance provision for tax on 31-3-2014 `2,90,000 Tax paid during 2003-04 `30,000.

10. Net profit `80,000, Depreciation `7,000, Interim dividend    `13,000. Calculate  cash from operation.
11. A firm produces a product called ‘X’. The opening balance of the product is 8,500 units. The estimated sales during a month are 16,300 units. The required closing stock 6,200 units. Prepare production Budget.
12. Variable Cost `7 per unit, Selling price Rs.10 per Unit. Fixed expenses `4,000. Find out Break Even point in Units
SECTION B — (5 × 5 = 25 marks)
Answer any FIVE questions.

13. Differentiate between Management Accounting and Cost Accounting.
14.  From the following Data  calculate 
(a) Labour cost variance 
(b) Labour rate variance 
(c) Labour efficiency variance.  
Standard hours : 80 hrs. @ Rs. 4 per hour.  Actual hours : 100 hrs. @ Rs. 6 per hour .
15. From the following find out 
(a) current assets 
(b) current Liabilities  current Ratio 2.5 ; Liquidity Ratio 1.5 ; working capital `.1,40,000

16. Distinguish between Funds flow and Cash flow Statement.
From the following balance sheet of a company, prepare a statement showing the changes in working  capital.                                                  Balance sheet                                                       

    Liabilities             2006         2007               Assets               2006             2007

                                       `              `                                      `               `
    Creditors                7,000       4,500             Cash  
             3,000            4,700

    Capital                  20,000     25,000             Debtors            12,000          11,500

    Profit & loss           1,000       2,300             Land 
             5,000            6,600

                                                                                     Stock                  8,000            9,000

                                             28,000     31,800                                       28,000          31,800

17. What is ZBB?  Explain the process of ZBB.
18. The following data are obtained from the records of a company: 

                                                             First year               Second year

                                     Sales                  85,000 

           95,000

                                     Profit                 10,000

           14,000 

         
Calculate the break- Even point.
SECTION C — (2 × 15 = 30 marks)

Answer any TWO questions.
19. Explain the different tools and techniques used in Financial Statement Analysis?
20. From the following information, calculate:
(a) Sale
(b)
Debtors
(c)
Closing stock
(d)
Creditors

             Debtors velocity 3 months

         Creditors velocity 2 months 

             Stock velocity 1.5 times

         G.P Ratio 25% G.P For the year ended 31 December 2010, amounted to `4,00,000. Closing   

              stock of the year is ` 10,000 above the opening stock. Bills receivable amounted to Rs. 25000 

and bills payable  ` 10,000.  
21. From the following balance sheet of kandan Ltd. as on 31.12.2012 and 1913, you are required to     prepare cash flow statement for the year ended 31.12.2013

          
Liabilities 


2012         2013               Assets          
       2012               2013

                                                                         `             `                                         `                 `

Share capital 

     1,00,000     1,00,000         Good will 
      12,000            12,000


General reserve    
       14,000         18,000       Building 
               40,000            36,000


P& l a/c   

        
       16,000         13,000       Plant 

      37,000            36,000


Creditors

                  8,000           5,400       Investment               10,000            11,000


Bills payable 
                 1,200               800       Stock 

      30,000           23,400


Provision for taxation       16,000          18,000       Bills receivable          2,000              3,200


Provision for 
 




         Debtor
               18,000            19,000  
 

         doubtful  debts                  
  400               600         Cash 
                    600                200







                           Bank 

        6,000   
 15,000



                      1,55,600      1,55,800



   1,55,600        1,55,800

Additional information:

(a) Depreciation on plant ` 6,000  and  building `4,000
(b) Provision for taxation of ` 21,000 was made during the year 2013

22. Prepare a flexible budget for overheads on the bases of the following  data.   

          Ascertain overhead at  60%, 80% and 100% capacity.

 Variable overheads                                                     At 80% capacity

  Indirect material                                                                         6,000

  Indirect labour                                                                          18,000

  Semi-variable overheads
  Electricity (40% fixed 60% variable)                                       30,000

  Repairs (80% fixed 20% variable)                                             3,000

  Fixed overhead 
  Depreciation                                                                             16,500

  Insurance                                                                                    4,500

  Salaries                                                                                     15,000

                                         Total overheads                                          93,000  

                  Estimated direct labour hours                                         1,86,000
                                                                  ————————
[P.T.O.]
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